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2.) Vinecent ction. The function has a positive
slope and a |positive x-intercept. [Which could be the function that
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What are linear inequalities?

LINEAR similar to linear equations but uses an inequality

INEQUALITY | symbol

SOLUTION |all of the ordered pairs that make the inequality
foaLinear nequalfy | true

Algebraically

EXAMPLE

I:zin;lnq \5\Ich ordered pairs ::e_ ZI__U:I:? to the linear inequality below:
o (2, 5) (-1.-7) (3. -4) (0, 0)
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Graphically

Graphing linear inequalities is a way to show ALL the
GRAPHING ordered pairs that are solutions! Steps to graph:

L equaliies || put e inequainy in SIOPG- MPCUPT  tom

Be sure to flip the inequality symbeol if you multiply or divide by a
negaltive number!

Step 1

inel
Graph the line! —

e Usea line for===_ or=— symbols.
e Useg® ""TTmTmmmmee Yine for & or = symbols.
‘Shade! N >
+ Shade QbOWme line for or . symbols.

. Shodebﬂ_low the line for L orﬁ symbols.

Step3 | Step2
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Example: 2x-3y <15
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Main Ideas/Questions

Notes/Examples

Systems of
Lngar nequalities

two or more linear inequalities

SOLUTION
fo a System of
Linear Inequalies

>—x—1 =
y<x-5

all coordiante points in the

"overlapping" shaded region
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